22

For the dimensional data of delfire series, ask to our commercial office.

= ._---'I
ATDGC/ATTD -
IE2 B3 B5 B14 B5R / B14B

TYPE POLES AD AD H KK | L D DH E @ F G A AB B | C M N PRS TM N PRS TMNPRS T
56 | 28 102 - | 56 | M16 | 198 9| Max12 |20 3| 3 (72 /9 111 71 |36 58 100| 80 |120 0| 7x4| 3 |65 50|80 |0 M5 25 - A I
63 | 28 | 107 |116| 63 | M20 | 215 11| Max12 |23 | 3 | 4 |85|100[/123| 80 | 40| 7 |115| 95 140|010« 3 | 75 | 60 | 90 |0 M5 25|100/80 120|0| M6 |25
71 | 28 119 124| 71 | Meo | 244 14| M5x12 |30 | 3 | 5 110/112/138| 90 | 45| 7 130110/ 160 0 10x4/35 85 | 70 105 0 M6 25|115 95 140 0 M8 30
80 | 28 | 130|139 | 80 | Meo | 283 19| MBx16 | 40 | 3 | 6 |155|125|157| 100 |50 |10165|130/ 2000 |12x4|35|100 80 120/ 0| M |30(130/110/ 160/ 0| M8 |35
90S | 28 | 145 146 90 | M20 | 310 24| M8x19 | 50 | 5 | 8 |200/140|173| 100 | 56 | 10|165|130|200 0|12x4/35/115| 95 |140|0| M8 |30[130/110/ 160/ 0| M8 |35
90L | 28 | 145 146 | 90 | M20 | 338 24| M8x19 |50 | 5 | 8 200/140/173| 125 | 56 10 165|130|200 0|12x4/35 115 95 |140/0| M8 30 /130110/160/0 M8 35
100 | 28 | 157 161 100 M20 | 373 28 |M10x22| 60 | 5 | 8 |240/160|196| 140 |63 |12 |215|180|250 0|15x4| 4 [130/110|160|0| M8 |35 165130/ 200| 0 M10/ 35
1M12M| 28 | 177 | 177 | 112 M25 390 28 | M10X22 | 60 B 8 |24,0/190 227 140 70 |12 215/180 250 |0 154 4 130110 160/ 0| M8 | 3,5/165130/200| 0 M10| 3,5
1325 | 28 | 197 195 | 132 | M32 | 460 38|M12xe8| 80 | 5 | 10 330|216 262 140 | 89 12 |265|230|300|0 15x4 4 |165 130 200| 0 |M10|35 215/180 250| 0 |M10/ 4,0
132M| 28 | 197 | 195 | 132 | M32 | 496 38 |M12x28| 80 | 5 | 10 1330/ 216 262 178 | 89 12 265|230/300|0 15x4 4 |165 130 200 0 |M10|35 215/180 250|0 |M10/4,0
160M| 28 | 255 255 160 | 2xM40 | 513 42 |M16X36 110 5 | 12 |37.0/254 | 320| 210 |108|15|300 250 350 0 19x4| 5 215|180 250 0|M12| 4.0 265/230 300 | 0|14x4| 50
160L | 28 | 252 | 252 | 160 | 2xM40 | 708 42 |M16X36 110 5 | 12 |37.0 254 |320| 254 |108|15|300 250 350 0 19x4 5 215|180 250  0|M12| 4.0 265 230 300 | 0 |14x4| 50
180M| 28 | 270 | 270 | 180 | 2xM40 | 730 48 |M16X36 | 110| 8 14 42,5/ 279 | 355 241 12115300 |250| 350 0({19x4| 5
180L | 28 | 270 | 270 | 180 | 2xM40 | 780 48 |M16X36 110 8 | 14 425279 355 279 |121|15|300 250 350 0 19x4 5
200L | 28 | 303 303 | 200  2xM50 | 771 55| M20x42|110| 12 | 16 49,0/ 318|395 305 (13319 350|300/ 400|0 19x4 5
2055 | 28 | 312 | 312 | 225 | 2xMs0 | 815 60 | M20x42|140| 12 | 18 |530/356 | 435 286 |149 19 400|350/ 450|0 19x8| 5
225M| 2 312 | 312 | 225 | 2xM50 | 820 55 |M20X42 | 110 12 | 16 |49,0| 356 | 435 |286,/311/149| 19 |400| 350|450 | 0 |[19x8| 5
225M| 48 | 312 | 312 | 225 | 2xvs0 | 850 60 | M20x42 | 140| 12 | 18 530 356 | 435 | 286,311/ 149 19 | 400|350/ 450 | 0 |19x8| 5
250M| 2 355 | 355 | 250 | 2xMB63 | 910 60 | M20X42 | 140 12 | 18 |53,0 406 | 490 349 168 | 24 | 500 450|550 0 |19x8| 5
250M| 48 | 355 | 355 | 250 | 2xvB3 | 910 65| M20x42|140| 12 | 18 580|406 | 490 349 |168| 24 500|450/ 550|0 19x8 5
280S| 2 398 398 280 2xMB3 | 985 65| M20X42| 140 12 | 18 580 457 550 368 |190 24 500|450 5500 19x8 5
280S | 48 | 398 | 398 | 280 | 2xMB3 | 985 75| Meox42|140| 12 | 20 (67,5457 |550| 368 | 190 24 | 500|450/ 5500 |19x8] 5
280M| 2 | 398 398|280 | 2xVB3 |1035 65| M20X42|140| 12 | 18 58,0/ 457 | 550 368,419/ 190 24 | 500|450/ 550 |0 19x8 5
280M| 48 | 398 | 398 | 280 | 2xvB3 | 1035 75| M2ox42 | 140| 12 | 20 67,5/ 457 | 550 | 368,419/ 190 24 | 500|450/ 550 | 0 |19x8| 5
3155 | 2 | 540 - | 315 2xvB3 1160 65| M20x42|140| 15 | 18 580 508 630 406 |216 28 600 550 660 |0 24x8| 6
3155 | 48 | 540 | - | 315 | 2xVB3 |1270 80 |M20x42|170| 15 | 22 71,0508 | 630 406 |216 28 600|550/ 6600 24x8| &
315M| 2 | 540 - | 315 2xVB3 |1290 65 M20X42 140 15 | 18 |580/508 630 457 |216| 28600 550|660 0 |24x8| 6
315M| 48 | 540 | - | 315 2xvie3 1325 80 M20X42 170 15 | 22 71,0 508 630 457 |216 28600 550 660 O |24x8 6
315L| 2 | 540 - | 315 2xMB3 1320 65 M20X42 140 15 | 18 |580/508 | 630 508 |216|28|600 550|660 0 |24x8| 6
315L | 48 | 540 - | 315 | 2xM63 1350 80 \M20X42 170 15 | 22 71,0 508 | 630 508 |216 28600 550|660 O |24x8| 6
355M| 2 |655| - | 355 2xMB3 |1500 75 | M20X42 140 15 | 20 67,5610 | 730 |560,630|254 | 28 | 740 680|800 | 0 |24x8| 6
355M| 48 | 655 | - | 355 | 2xMB3 |1530 95 |M20x42 170 15 | 25 86,0/ 610 | 730 |560,630|254 | 28 | 740 680|800 | 0 |24x8| 6
355L 2 655 - 355 | 2xMB3 |1500 75 | M20x42 | 140| 15 | 20 |[67,5/ 610 | 730 |560,/630|254 | 28 | 740 680 | 800 | O |24x8| 6
355 | 48 | 655 | - | 355 2xMB3 |1530 95 | M2ox42|170| 15 | 25 86,0/ 610 | 730 | 560,630 254 | 28 | 740|680/ 800 | 0 |24x8| &




2 | 1o  ATea Teasgy ATTD | ATTD:SV
TYPE POLES| L L L L L L
56 | 28 | - - - - -
63 | 28 | 301 276 401 321 438
71 | 28 | 341 300 442 365 497
80 | 28 | 388 340 509 417 560
90S | 28 | 420 | 440 | 385 566 465 577
9oL | 28 | 445 | 485 | 410 591 490 B02
100 | 28 | 483 | 503 | 450 621 488 847
112M | 28 | 525 | 545 | 475 668 563 693
132S | 28 | 590 | 610 | 557 765 840 795
132M | 28 | 625 | B45 | 590 803 877 832
160M | 28 | 765 @ 765 | 720 | 1009 820 929
160L | 28 | 862 | 862 | 771 1104 882 1033
180M | 28 | 860 | 860 | 847 990 995 1140
180L | 28 | 910 | 910 | 888 | 1038 | 1044 1188
200L | 28 | 973 | 973 | 890 | 1013 | 1050 1178
2255 | 28 | 955 | 955 | 935 | 1090 | 1115 1351
225M | 2 | 955 | 955 | 935 | 1090 | 1115 1345
225M | 48 | 985 | 985 | 965 | 1120 | 1145 1375
950M | 2 | 1045|1045 | 1075 | 1211 | 1285 1486
250M | 4-8 | 1045 | 1045 | 1075 | 1211 | 1285 1466
280S | 2 11051105 | 1175 | 1274 | 1355 1444
280S | 48 | 1105|1105 | 1175 | 1274 | 1355 1444
280M | 2 |11B0 1160|1230 | 1329 | 1410 1499
280M | 48 | 1160|1160 | 1230 | 1329 | 1410 1499 B14, B5R/B14B
3155 | 2 | 1400|1400
3155 | 48 | 1430 | 1430
315M | 2 | 1500|1500
315M | 48 | 1530 | 1530 <
315L | 2 | 1500|1500
315L | 48 | 1530 | 1530
355M | 2 | 1740|1740
355M | 4-8 | 1770 | 1770
355L | 2 | 1740|1740
355L | 48 [1770| 1770

you can download 2D and 3D
drawings from www.mative.it

e

—I>

- -




